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Guess Paper – 2010

Class – XII

Subject – Chemistry
TIME-3HRS                                                                                     M.M-70

GENERAL INSTRUCTIONS:

  1 All questions are compulsory.                                                      

 2.Question number 1 to 8 are very short answerquestions,carry 1 mark each

 3.Question number  9 to 18 are short answer questions,carry 2 marks each 

 4 Qquestions number 19 to 27 are also short answer questions,carry 3 marks each.

 5 Question number 28 to 30 are long answer questions carry 5 marks.

1 Ionic solids conduct electricity in molten state but not in solid state. Exp?

2. Why does the conductivity of a solution decrease with dilution? 

3.  Why are powdered substances more effective adsorbents than their crystalline forms?
4.  Why bonds in PCl5 are not of same length ?

5.  Write IUPAC name of the following compound:            CH3- CH(Br) -CH2-O-CH(CH3)2

6  .Draw structure of  2,2-dimethyl pentanal

7.  Define denaturation of protein ?

8  .Write monomer of nylon-6 ?

9.  Explain positive deviation of non-ideal  solution with example ?

                                                                                     OR

   Why do we get abnormal molecular mass?Explain with example?

10. Write reactions of mercury cell at anode and cathode ?

11. Represent the cell in which the following reaction takes place 
     Mg(s) + 2Ag+(0.0001M) Mg2+(0.130M) + 2Ag(s)

      Calculate its E(cell)  if  Eo cell  = 3.17 V.
12. Answer the following:

  (i) oxygen has lower electron gain enthalpy than sulphur ?  

  (ii) draw structure of XeO3 and XeF4 

13 .Why yellow solution of potassium chromate becomes orange in acid medium?

14 (i)Why thionyl chloride is preferred  to prepare chloro alkane from alcohol ?

   (II) What are ambident nucleophiles? Explain with an example?

15. Convert- (i) Ethanol to but-1-yne 
                   (ii) Aniline to phenol

16. Explain (i)Cyclohexyl amines are more basic than aniline
                  (ii) Aniline is  acylated before nitration to get mono substituted product .
17. Explain with one example (i)Gabriel phthalamide synthesis 

                                                 (ii)Diazotisation
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18Explain the difference between Buna-N and Buna-S..?   (2)

19. An element has a body-centred cubic (bcc) structure with a cell edge of 288 pm. The density of the element is 7.2 g/cm3. How     

       many atoms are present in 208 g of the element? (3)
20 Calculate the mole fraction of ethylene glycol (C2H6O2) in a solution containing 20% of C2H6O2 by mass. (3)
                                                                          OR

    If N2 gas is bubbled through water at 293 K, how many millimoles of N2 gas would dissolve in 1 litre of water. Assume that N2

       exerts a partial pressure of 0.987 bar. Given that Henry’s law constant for N2 at 293 K is  76.48 kbar. (3)
21. What are lyophilic and lyophobic sols? Give one example of each type. Why are hydrophobic sols easily coagulated ? (3)
22. How can you separate alumina from silica in a bauxite ore associated with silica? Give equations, if any.. (3)
23.Explain giving reason-                                                                                                                           1x3

    (i) Why is Cr2+ reducing and Mn3+ oxidising when both have d4 configuration.   

    (ii). How would you account for the irregular variation of ionization enthalpies (first and second) in the first series of the   

           transition elements?
    (iii) Why is the EV value for the Mn3+/Mn2+ couple much more positive than that for Cr3+/Cr2+ or Fe3+/Fe2+? Explain.
24. Explain on the basis of valence bond theory that [Ni(CN)4]2– ion with square planar structure is diamagnetic and  

      the [NiCl4]2– ion with tetrahedral geometry is paramagnetic.
25. How will you bring about the following conversions?

      (i) Ethanol to but-1-yne (ii) Toluene to benzyl alcohol (v) Propene to propyne   (1x3)

    26. What are nucleic acids? Mention their two important functions. What is the difference between a nucleoside    

           and      a nucleotide? (3)
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27.(I) What is tincture of iodine ? What is its use ?    (II)     What are food preservatives ?

       (III) Why is use of aspartame limited to cold foods and drinks ?    (3)

28 The following data were obtained during the first order thermal decomposition of N2O5 (g) at constant volume:

2N2O5                                2N2 O4 g O2 g
       S.No.        Time/s         Total Pressure/(atm)
          1.                  0                    0.5

          2.               100                  0.512
         Calculate the rate constant.
                                                                            OR
         Hydrolysis of methyl acetate in aqueous solution has been studied by  titrating the liberated acetic acid against    

      sodium hydroxide. The  concentration of the ester at different times is given below.
      t/min            0                 30                 60                      90
     C/mol L–1 0.8500         0.8004         0.7538                0.7096
Show that it follows a pseudo first order reaction, as the concentration  of water remains nearly constant (55 mol L–during the course of the reaction. What is the value of K I  in this equation?

Rate = K I [CH3COOCH3][H2O]     (5)
29.Assign reason for the following:    1X5

    (i) Oxygen has lower electron gain enthalpy than sulphur              

    (ii)Ammonia  has higher boiling point than phosphine     
    (iii)Inter halogen compounds are more reactive  than parent halogens

    (iv)Chlorine is a strong oxidizing agent 
    (v)Only xenon forms noble gas compounds.
30. (a) Why benzaldehyde is less reactive in nucleophilic addition reactions than propanal? Explain your answer.(1)
      (b) There are two –NH2 groups in semicarbazide. However, only one is involved

           in the formation of semicarbazones?(1)
      (c) An organic compound (A) (molecular formula C8H16O2 was hydrolysed with dilute sulphuric acid to give a     

           carboxylic acid (B) and an alcohol (C). Oxidation of (C) with chromic acid produced (B). (C) on dehydration gives but-1-ene. Write equations for the reactions involved3)
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